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What’s the smallest score that
is not obtainable on this test?

The only nonobtainable scores are:

139, 143, 144, 147, 148, 149

and the obvious ones like:

151, −28,
√

2,
√−1,

π2

e − 17
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Remarks on Writing a High School Competition:

Original Problem 23: When Tammy was four years old,
John was three times as old as Martha. When Martha
was twice as old as Tammy, John was five times as old
as Tammy. How old was Tammy when John was twice as
old as Martha? (Recall Answer: 16)

Years Later Tammy John Martha

4 24 8 (really8.75)
1.5 5 25 10
6.5 12 32 16



Remarks on Writing a High School Competition:

Revised Problem (Draft 5): Two days ago, Bobby had
4 marbles and Greg had three times as many marbles as
Peter. Yesterday, their mother gave each of them some ad-
ditional marbles (each boy received the same amount), so
that Peter had twice as many marbles as Bobby, and Greg
had five times as many marbles as Bobby. Today, their fa-
ther gave each of them some additional marbles (each boy
received the same amount), so that Greg now has twice as
many marbles as Peter. How many marbles does Bobby
have today?



Remarks on Writing a High School Competition:

Yet Another Version: Let f1, f2, andf3 be the functions
x + a, x + b, andx + c in some order wherea, b, andc

are real numbers. Suppose there are real numbersx1, x2,
andx3 satisfying:

(i) f1(x1) = 4 andf3(x1) = 3f2(x1)

(ii) f2(x2) = 2f1(x2) andf3(x2) = 5f1(x2)

(iii) f3(x3) = 2f2(x3)

What is the value off1(x3)?
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The Best Idea (my opinion):

Use a different problem!!
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